CARENATURE
1IEVACER 50DYWORKS

O]

%

A
A CIK-FIA STANDARD

% % »

A

110 In vigore dal - Effective from 15-12-2021 g




Rif. M4 BODYWORKS ¥

Description Tax included
A |0306.FAPKIT Musetto anteriore M4 con attacchi M4 front fairing with supports 0
A  (0306.FAPHKIT Musetto anteriore M4 con attacchi CIK M4 front fairing with CIK supports 0
B |0302.FAP 7AYENE L M4 M4 front spoiler 7,590
C [0300.FAP B HE 9IR M4 M4 side box 14,520
E |0305.DA AV VAT AT~ M3-M4/175mm M4 lower spoiler's support 2,640
F [V.TPSCEI6X25 TPSCEI screw 6x25 mm 44
G |0033.00 At"yIyY¥— M6/ALU Biconical AL washer @ 6 mm 264
H (0031.00 IV -7yY%—6X20 Rubber @ 6x20 mm Red 88
I [V.TCE6X20 F4y7' K Vb 6X20 TCEI screw 6x20 mm 33
J R.P.6X12 DyY4— D.6x12 Washer @ 6,3x12,5x1 mm 22
K |D.M6A.B. v 78y9+yM6 (F4AY) A.B. nut M6 mm 22
L D.M6A.A. Dado M6 A.A. A.A. nut M6 mm 0
M |0304.E0 FAYNFMN{AT— M4/M5/CIK 1pc M5 upper spoiler's support CIK 2,640
N [V.TPSCEI6X20 #3i° W+ 6X20 TPSCEI screw 6x20 mm 44
0 |V.TB8X16 H4v2HY1— 8X16 TB screw 8x16 mm 110
P |RES A7YYY 79Y%— D.8X15 Spring washer @ 8 mm 33
Q |V.TB6X16 w'4vAH)1- 6X16 TB screw 6x16 mm 55
R |R.P.6X18 Jy¥4— D.6x18 Washer @ 6x18x1 mm 1
S [0306.FCHKIT 70YbRK°45—-7"549F M4/6/8 TYPE CIK 1pc Connection Kit type CIK for M4 - M5 - M6 front fairing 2,750
T |0306.FCKIT 7AYhAK 45—7"779F M4/8/8 TYPE STD 1pc Connection Kit Standard for M4 - M5 - M6 front fairing 2,750




